This example  demonstrates  how an energy hedge, a guaranteed energy price for the purchaser and seller, and a congestion hedge utilizing a PTP Option operates under various price scenarios. 
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Assume: 100 $20 $2,000

Entities G and L Agree to Guarantee one another 100 MWhs at $20/MWh in a contract for differences, delivered to the Load Zone.

Entity G buys a 100 Mw PTP Option strip in a Monthly CRR Auction for $5.00/MW per hour.

G's Marginal cost is $15/MWH for all MWs generated.
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Option Value to G G Net Position G Marginal Profit

No Congestion 100 $15 $1,500 100 $15 $1,500 500 0 -$2,000 -$500 $0 $1,500 $0

No Congestion 100 $20 $2,000 100 $20 $2,000 0 0 -$2,000 -$500 $0 $1,500 $0

No Congestion 100 $30 $3,000 100 $30 $3,000 0 1000 -$2,000 -$500 $0 $1,500 $0

Congestion 100 $15 $1,500 100 $20 $2,000 0 0 -$2,000 -$500 $500 $1,500 $0

Congestion 100 $15 $1,500 100 $30 $3,000 0 1000 -$2,000 -$500 $1,500 $1,500 $0

Congestion 100 $15 $1,500 100 $40 $4,000 0 2000 -$2,000 -$500 $2,500 $1,500 $0

Congestion 100 $20 $2,000 100 $40 $4,000 0 2000 -$2,000 -$500 $2,000 $1,500 $0

Congestion 100 $40 $4,000 100 $20 $2,000 0 0 -$2,000 -$500 $0 $3,500 $2,000

Congestion 100 $50 $5,000 100 $30 $3,000 0 1000 -$2,000 -$500 $0 $3,500 $2,000

Conclusions:

The Load has achieved a $2,000 hedge for 100 MW delivered to the LZ

The Generator has achieved a $1,500 hedge for 100 MWs generated and delivered to the LZ

If the delivery hedge is reversed in ownership, add -$500 to the Load position and +$500 to the Generator position  


